%
b)
2 '8)
b)
b A )
b)
3.8
4E2113

OR

Find the pole - zero plats of the driving point and transfer impedance of the
network given in fig.3 (8

5s

A current transfer function is given by /s = (+2)s +25+2) obtain its time

domain response. )
: Unit - 11

Test whether the following functions are Hurwitz or not. (8)

) +35* +35° +4s% +5+1

iy Y538 42

Check whether the function Z(s) A s o is a PR function 8
o2 S’ +25* +5+2 3
OR
The driving point impedance of a one port reactive network is given by
s(s*+4
Z(s)=4 (_STIE)(—SE%%—) obtain the Faster First form of LC network realisation.(8) -
. 4 2
The driving point impedance of a reactive network is given by Z(s)= 5—2:34%:—-%
Find the second form of Cauer network. (8)
Unit - II B

Determine the Z - parameters of the network given in fig.4 (8)
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